MAT-41186 Formal Languages Examination 11.12.2009

NB This is a closed-book exam, no material is allowed. Calculators are allowed.

1. a) Show that the finite code @ + ab cannot be recognized by any deterministic finite
automaton with only one terminal state.

b) Show that, on the other hand, every prefix code (finite or infinite) which is a regular
language can be recognized by some deterministic finite automaton with exactly one
terminal state.

2. Which of the following implications are correct and which are false? Explain your rea-
‘soning!

a) If L, is a regular language and L, is a CF -language, then L; — L, is a CF-language.

b) If L, is a regular language and L, is a CF-language, then Ly — I; is a CF-language.

¢) If L, is aregular language and L is a CF-language and LU L, is a regular language,
then L; — L, is a CF-language.

- d) If L, is aregular language and L, is a CF-language and L;N L, isa regular language,
then L; — L, is a CF-language.

(Here, as usual, L — Ly denotes the difference of L., and Ly, i.c., the language L, N Ly.)

3. Explain briefly what is a) unambiguity of a CF-grammar, b) an inherently ambiguous
CF-language, ¢) a deterministic CF-language.

4. CS-languages, their definition and basic properties.

9. The weights are P, = €2 (i = 1,...,n) where ¢ = 1/(2" — 1). Use Huff-
man’s algorithm to find an optimal prefix code over the alphabet {a,b,c} fora)n = 4,
b) n = 5, and c) a general value of n.

‘Suomeksi >




MAT-41180 Formaalit kielet Tentti 11.12.2009

Huom! Mukana ei saa olla kirjallisuutta, tictokoneita eiki taulukoita. Laskuvilineet ovat sal-
littuja.

1. 'a) Totea, etté dérellistd koodia a + ab ei voi tunnistaa milladn deterministisells drelli-
selld automaatilla, jossa on vain yksi lopputila.

b) Totea, ettd toisaalta jokainen prefiksikoodi (8drellinen tai d4retdn), joka on sddnndl-
linen kieli, voidaan tunnistaa jollain deterministisells dsrellisella automaatilla, jossa
on tarkalleen yksi lopputila.

2. Mitks seuraavista pédttelyistd ovat oikeita ja mitké viaria? Perustelut mukaan!
a) Jos L, on s#dnnéllinen kieli ja Ly on CF-kieli, niin L; — Ly on CF-kieli.
b) Jos L, on siannéllinen kieli ja Ly on CF-kieli, niin Ly — L; on CF-kieli.

- €) Jos L, on sdgnnéllinen kieli ja Ly on CF-kieli ja L U L on siinnéllinen kieli, niin
Ly — Ly on CF-kiehi.

- d) Jos Ly on sdénnéllinen kieli ja L, on CF-kieli ja L1 N Ly on sddnndllinen kieli, niin
Ly — Ly on CF-kieli.

(Téssd tavan mukaan merkitdsn Ly — Lo:1l4 kielten L, ja Lo erotusta eli kieltd L, N L,.)

3. Selosta lyhyesti, mitéd ovat &) CF-kieliopin yksiselitteisyys, b) luontaisesti moniselittei-
nen CF-kieli ja ¢) deterministinen CF-kicli.

4. CS-kielet, niiden marittely ja perusominaisuudet.

5. Painot ovat P, = C2" (; = .,m), missd C' = 1/(2" — 1). Etsi Huffimanin al-
- goritmilla aakkoston {a,b,c} opt1maa11nen prefiksikoodi, kun @) n = 4, b) n =5, ja
¢) yleiselle n:n arvolle.

In English — ————




